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] 1 2 3 4 =y B
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e
71
106 130 24 9 809
Ef E fez
RE (BE) (39.4%) (48.3%) (8.9%) (3.3%) (100.0%)
. 279 474 82 46 881
S (31.7%) | (53.8%) (9.3%) (5.2%) | (100.0%)
B 143 292 204 14 653
(21.9%) | (44.7%) | (31.2%) (2.19%) | (100.0%)
- o 117 183 49 8 357
= (32.8%) | (51.3%) | (13.7%) (2.2%) | (100.0%)
N st 645 1079 359 77 2160
= ? (29.9%) (50.0%) (16.6%) (3.6%) (100.0%)
X2 = 166.49795 DF =9 P = 0.00000

Number of Missing Observation = 0
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Kg (2hk) (75.8%) (23.0%) (1.1%) (100.0%)
564 295 22 881
B
HOH B R (64.0%) (33.5%) (2.5%) (100.0%)
_ 428 213 12 653
B O (65.5%) (32.6%) (1.8%) (100.0%)
- 9253 100 4 35
il (70.9%) (95.0%) (1.1%) (100.0%)
N " 1449 670 41 2160
= 3 (67.19) (31.0%) (1.9%) (100.0%)
X2 = 17.79978 DF = 6 P = 0.00675

Number of Missing observation = 0
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X2 = 83.33514 DF =6 P = 0.00000
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EHERE5.2%  mh (B) H49.5% - B 63.9% » £ 884834 61.3
%RMEEH? - BREHE2EAE=EEEF  WEREASKEAFB
R o

mEELRNER ERSENAENEE  BAZE ) BREASE
ANBREH? » FHSHYAKSBALSERITHEREASNE — &



(BKBHREENR) B SAETR—BEREARENTRESIE
BEE o MEST () B FEHBI% BEREIEL > MERF2Z 495
%iEE - BR CERBOY BRECESTERELESMERERE - &
SRR EERER - RERERRE, OTSE S () AR -

.t AE B A B BRA RS H (& ABREANR )
e MR A BB MR SRS o

6. W EH L BENME - FER
D1.L5— B SNSHBENEREENRRTIEDTUL -

Number of Missing observation = 0
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THREHEERECEXENENAREZNBNEE

ig
2 1 2 3 4 a 5
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4 14 80 171 269
Ef B =
R (Bh) (1.5%) (5.2%) (29.7%) | (63.6%) | (100.0%)
29 50 331 471 881
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g 82’ (3.3%) (5.7%) (37.6%) | (53.5%) | (100.0%)
= (M) 12 29 219 393 653
= (1.8%) (4.4%) (33.5%) | (60.2%) | (100.0%)
" 5 15 92 245 357
(1.4%) (4.2%) (25.8%) | (68.6%) | (100.0%)
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= 3 (2.3%) (5.0%) (33.4%) (59.3%) | (100.0%)
X2 = 3].15392 DF =9 P = 0.00028

Number of Missing observation = 0
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#3-18 WAEHRHSENBRERBMEE D LSS EE

=
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7 1 2 3 4 5 & &
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Ef E =
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Ef
q B2 R (9.6%) | (13.2%) | (9.6%) | (44.3%) | (23.3%) | (100.0%)
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a " (10.0%) | (183.5%) | (12.3%) | (44.9%) | (19.4%) | (100.0%)
X2 = 5].98518 DF = 12 P = 0.00000

Number of Missing observation = 0
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